
vVd vkjksihph ekfgrh 
vadz iksyhl 

Bk.ks 
dye 

 
vVd vkjksihps uko]o; o iRrk 
 

 
  

vVd rkjh[k 
o osG 

vkjksihph 
iq<hy 
dkjokbZ 

vkjksih vVdsph 
ekghrh dks.kkl 

fnyh  

rikfld 
vaeynkj@ vVd 

dj.kkj 

vkjksihpk 
QksVks ?ksryk 
fadaok dls 
 

bVzkxs’ku 
QkWeZ Hkjyk 
fdaok dls 

,dw.k 
vkjksih 

01 vkSa<k uk 292@22 dye 
324]323 Hkknoh lg 
dye 
¼1½]¼vkj½]3¼1½]¼,l½]3¼2½] 

¼Ogh,½ 

f’kokth ukenso tk/ko o; 32 
tkr ejkBk jk eqrhZtkiqj lkoaxh 
rk vkSa<k uk 

 

26-08-22 
jksth ps 

20%27 ok 
LVsMk ua 43 

ykWdi can iRuh pkaxquk 
f’kokth tk/ko 

lgk iks vf/k{kd 
rFkk mifoiksv 
ns’keq[k lk 

gks; gks; 01 

02 fgaxksyh 
xzk 

266@22 dye 
379]34 Hkknoh 

rqG’khjke Kkuq pOgk.k o; 39 
jk bapk rk ft fgaxksyh 2-lat; 
flrkjke [ks=h o; 34 jk dkdM 
nkrh QkVk rkft fgaxksyh 
 

26-08-22 
jksthps 

15%45 ok 
LVsMk ua 17 

ykWdi can iRuh js[kk 
pOgk.k 

iksuk@163 Mqdjs gks; gks; 02 

 


